GENERAL KNOWLEDGE

1. What was Uttar-Pradesh
known as from the year 1937-
19507
(1) Utara
(2) United Provinces
{3) Uttar Province
(4) Ram Krishna Pradesh
. The Katlash Fair is celebrated
in honour of Lord Shiva in
which city of Uttar Pradesh?
(1) Agra
(2) Varanasi
(3) Kanpur
(4) Luchknow
3. Which of the [ollowing is the
longest canal of Uttar Pradesh ?
(1) Agra Canal
(2) Sharda Canal
[3) Upper Ganga Canal
(4) Lower Ganga Canal

4. In which year did Uttarakhand
come into existence 7

]

(1) 2000 (2) 1991
(3) 2016 (4) 2011 °
5. In 1930, CV- Raman won the
Nobel prize for_____.
(1) Literature
(2) Peace ;
(3) Physics .
(4) Economics
6. Which book by Vikram Seth is

a collection of ten fables as
poems 7

(1) An Fqual Music

(2) Beastly Tales

(3) The Rivered Earth

(4) Summer Requiem

7. Name the last poem written by
Harivansh Ral Bachchan.
(1) 1 November, 1984
(2) Chal Mardane
[3) Do Chattane
(4) Agneepath
8. The blood group system was
discovered by :
(1) Friedrich Stromcyer
(2) Karl Wilhelm Scheele
(3) Willlam Murdock
[4) Karl Landsteiner

9. is a computeér worm
that targets industrial control
systems. It attacked lran’s nu-
clear program in 2007,

(1) Conficker (2) Stuxnet
(3) Zeus (4) Sasser

10. The strait between Tamil Nadu
and the Mannar district of Sri
Lanka is called -

(1) Strait'of Malacca
(2) Palk Strait

{3) Sunda Strait

{4) Maliku Kandu

11. Which of the following states
of United States ol America
does NOT share a boundary
with-any other US state?

(1) Florida
(2) Alaska
(3) Rhode Island
[4) Maryland

12. Which is the third most popu-
lated country in the world ?
(1) Indonesia °
(2) Brazil
(3) United States of America
(4) United Kingdom

13. Which of the lollowing is NOT
one of the emirates of United
Arab Emirates ?

(1) Muscat

(2) Dubai

(3) Abu Dhabi
(4) Sharjah

14. Which one ol the lollowing is
the capital of Bahrain ?
(1} Ankara (2] Doha
(3) Manama (4] Beirul

[ Pl I,
speaker of the Lok Sabha.
(1) Sushma Swara|
(2) Meira Kumar
(3) Pratibha Patil
(4) Sumitra Mahajan

16. The Sepoy Mutiny of the 1857
War of Independence happened
in which city?

(1) Jhansi (2} Hyderabad
(3) Delhi (4) Meerut

17. The traditional snack ‘Khand-
vi' is associated with which
Indian state ?
(1) Gujarat
(2) Karnataka
[3) West Bengal
(4) Bihar

18, Name the first Hindi-language
newspaper of India, first pub-
lished on 30 May, 1826,
(1) Dainik Bhaskar
(2) Udant Martand
(3) Patrika
(4) .Deshbandhu

18. Which of the following is a
high-yielding seed variety of
wheat that contributed Lo In-
dia’s Green Revolution ?

was Lhe first woman



(1} Indira Sona
(2) Larma Rojo
[3) Arize Tez
(4] Ankur
20. To prepared the initial draft of
the Indian constitution in Feb-
ruary 1948 7
(1) Beohar Rammanohar Sin-
ha
(2] Nandalal Bose
[3) Shyama Prasad Mukherjee
(4) Benegal Narsing Rau
21. Umaid Bhawan Palace s in
which cily?
(1) Udalpur  (2) Jodhpur
(3) Musuru  (4) Jalpur
22. Lavani is a famous folk-dance
form of which Indian state?
(1) Uttar Pradesh
(2) Maharashira
(3) Sikkim
(4] Tamil Nadu
23. Which was the last year when
the Rail Budget and the Union
Budget were presented sepa-
rately in India.
(1) 2016 (2) 2012
(3) 2008 (4) 2004
24. Who was: the first de lacto
Governor - General of India
from 177310 1785 ?
(1) Warren Hastings
(2) Lord Minto
[3) George Watson
(4) William George Walker
25. The Investment Information
and Credit Rating Agency
(ICRA) has its headquarters
in
(1) Mum (2) Bengaluru
(3) Gurugram (4] Chennai
26. The Indian Government has
made tourism illegal in which
ol these islands ?
(1) Praslin Island
(2) PembalIsland

[3) Tromelin Island

(4] Sentinel Island
27. The first civil airport of which |

Indian state was inaugurated

on September 2018 7

(1) Stkkim (2] Mizoram

(3) Nagaland (4) Manipur |
28. The first Defense Minister of

Independent Indiawas____ .

(1) Kaflash Nath Katju

(2) VK Krishna Menon

(3] Baldev Singh

(4] Yashwantrao Chavan

20. The island which has Sardar
Vallabhbhal Patel's ‘Statue of |
Unity" is located in which riv-
er’?

(1) Narmada (2) Sabarmati
(3) Tapi (4) Mahi

30. Pollen is produced in which
part of the Nower ?
(1) Ovary (2) Owvule
(3) Anthers (4] Pistil

31. Which bacteria are oval-
shaped or spherical ?
(1) Escherichila coli
[2) Coccus
3) Bacillus
(4] Vibrio

32. The wavelength of violet colour
light is about i
(1) 10-11 pm
(2) 1-10mm
(3) 455 - 390 m
(4) 230 - 310 pm

33. Buller Is an example of a____
(1) suspension
(2) colloidal solution
(3) emulsion
(4) amalgam

34. Which of the following salts
will NOT have 10 molecules of
waler of crystallisation ?

(1} Glauber's salt

(3] Borax !I
(4) Epsom salt |
35. Who founded the .-\I.I.Lh,lbmf
University in 1887 7 :
(1) Dr. Sarvepalli llldhnkr:,,_i
hanan |
(2) Jonathan Duncan
(3) Sir William Muir
(4] Madan Mohan Malaviya
38. The first wormnan Chiel Minis.
ter was appointed in 1963}
Which Indian siate govern.

ment did she lead ?
(1) Uttar Pradesh
{2) Tamil Nadu
(3] West Bengal
(4) Assam
37. Who was clected as the Chigf
Minister of Uttar Pradesh ip
20177
(1) Govind Ballabh Pant
(2) Yogi Adityanath
(3) Akhilesh Yadav
(4) Mayawati
38. Which of the following is the
state bird of Uttar Pradesh ?
(1) Parrot
(2) Eagle
(3) Kingfisher
*  (4) Crane

NUMERICAL ABILITY |

(2) Washing soda

39. X has a balance of Rs, 90.53
in the bank account. What will
be the balance left after a de-
posit of Rs. 67.14 and a with-
drawal of Rs. 70.16 ?

(1) Rs.86.51 (2) Rs.87.51
(3] Rs.78.51 (4) Rs.79.51

40. The HCF and LCM of two num-
bers is 2 and 72 respectively.
The bigger number is 2 more
than twice the smaller num-
ber. Find'the smaller number,

() 4 2) 6 i
3) 8 (4) 10




o i I.E::'—":E. find the value
s, 510776 2 ’

[ X

) 12 (2) 15

(3) 16.5 (4) 18
42, Find 40% of 120% of 85% of

(1) 288 (2) 326.4

(3) 360 (4) 400

43.1fan article was bought for Rs,
400 and a repalring charge of
Rs. 50 was paid for it and it is
supposed to be sold at a profit
of 20% on' the marked price
which is 10% above the cost
price. Find the required sell-
ing price {in Rs.).

(1) 440 (2) 452
(3) 462 (4) 478

44, What is the total percentage
discount applied when two suc-
cessive discounts of 209 and
1096 are applicable.

(1) 25% (2) 28%
(3) 32% (4) 36%

45. Find the rate of interest if the
simple interest on a principal
of Rs. 1,000 gave an Interest
of Rs. 440 in a span of 5 years.
(1) 8.4% (2) B.55%

{3) 8.8% (4) 8.9%

46, Find the time for which com-

pound interest of Rs. 331 was

generated on a prineipal of Rs.
1,000 at an annual interest

rate of 10%6.

(1) lyear  [2) 2ycars

. (3) 2.5years (4) 3years

47. Three partners, A.B and C

shared profits in the ratio
4:5: 6. Il C's share of the
profit was Rs, 200 more than
that of A, find the total profit
generated by them. .

(1) Rs, 1,500 (2) Rs. 1,600
(3) Rs. 1.650 (4) Bs.1,750
48. Three partners, A.B and C
shared profits in the ratio 2 »
3: 4. A new partner D joined

who took half of the shares of |
each A and C. If D's share of
profit now is Rs. 100, find the

total profit.
(1) Rs.200 [2) Rs.250
(3) Rs.275 (4) Rs.300

49, A retaller bought 7 articles for
Rs. 10 each, 9 articles for Rs.
11 and 14 articles for Rs. 15
each. Find the selling price per
article if the profit s supposed
to be 20% of the average cosl
price.
(1) Rs. 15.16 (2) Rs. 15.20
(3) Rs. 15.24 (4) Rs. 15.28

50. A and B can complete a task
in 12 days. B and C can com-
plete the task in 16 days, Aand
C can complete the task in 24
days. Ip how many days will
they together complete the
task?
(1) 9.33 (2) 9.67
(3) 10.33 (4) 10.67

51. A man completes a journcy in
5 hours. He travels first half
of the journey at the rate of 21

km/h and the second half at
24 km/h. Find the total dis-

tance travelled.
(1) 112 km. (2) 116km.
(3) 120 km. (4) 124 km.
52.The ratio of speeds of two
trains is 5 : 6. The second train
covers 450 km in 5 hours. What
is the speed of the first train ?
(1) 80km/h (2) 65km/h
(3) 70km/h (4) 75km/h
53. The length of a rectangular plot
is thrice its breadth. The area
of the plot is 768 m?. Find the
perimeter of the plot.
(1) 120 metre (2) 124 metre
(3) 128 metre (4) 132 metre
54. A 3 - digit number ABC. where
A is at the hundredth place, B
1is at the tenth place and C is
at the unit's place, is re-writ-.
ten as ABCABC and s divided
by the LCM of 7. 11 and 13.

What will be the result ?

(1) ABC (2) CBA
(3) BCA (4) AAB

B85. A 5-digit number 247X8 is di-
vistble by 44. Which digit can

replace X ?
1y 1 (2 2
(3) 3 (4) 4

56. Find the product of the square
root of 256 and square rool r:al'
16 and then find the result's
square rool.
(1) 4 (2) &
(3) 8 (4) 10

57. Two chairs and a table can be
bought for Rs. 170. Five chairs

and four tables can be bought
for Rs. 530. Find the cost of a

chair. . |
(1) Rs. 40 (2) Rs.50
(3) Rs. 60 (4) Rs. 7O

[ MENTAL ABILITY

58. Fill the missing value in this

series @

C2BA, FEAD, IHGS, ?

(1) JIGKL (2) LIGKJ
(3) MIBNO  [4) O16NM

59. Which pair in the options will
complete the following series :

Al SRR,
(1) D, Y (2) D2
B)E, Y (4) E. X

60. X bicycled 15 km north. then
20 km to his left. At least, how
many more kms does he need
to bicycle to return Lo his orig-
inal position ?

(1) 35km. (2} I5km.
(3) 20km. (4] 25km.

61. Two cars siart [rom a common
point. The 1st car travels north
10 km, turns lelt and go=ss
ahead for 8 km. The 2nd car
goes south for 5 km, turns
right and travels 8 km. What
is the distance between the

cars ?
(1) 5km (2) 10km
(3) 8km  (4) 15km



63. X travels 5 km north,

62. X walks 3 km away from his
slarting point. He turns right
and travels a further 8 km. He
turns left and walks ahead,
bul notices that he is in the
opposite direction of what he
Is supposed to be in. He start-
ed by walking towards east. In
which direction is he supposed
lo go 7

{1} MNorth
(3) West

2) East
[4) South
lurns
right and covers 7 km. He then
lums right and travels 5 km.
Inwhich direction is he going ?
(1) North (2] East
(3] West (4] South
64. A is given below, followed by
two Conclusions I and 11, You
have to consider the statement
to be true even il it seems to
be at variance with commonly
known facts, You have to de-
cide which of the given Con-
clusions, if any, follows from
the given statements.
Statement : Company ABC
has marketed the product with
the following slogan : “Go
ahecad; purchase it if the price
and quality are your consider-
ations”.
Conclusions :
I. The price of the product
must be high.
II. The product must be of a
good quality.
(1} Only Conclusion I lollows
[2) Only Conclusion II follows
(8] Both I and 11 follow

(4} Neither 1 nor II follows

. A stalement is given below,

 [ollowed by two arguments, |
and II. You have lo consider the
statement to be true even if it
seems Lo be at variance with
commonly known facts. You
have to decide which of the giv-

~ en arguments, ifany, is strong
and mpporta the ,glvan state-
_ments.

66,

Statement : Should taxes be
abolished in a developing
country like India?

 Arguments :

I. No, taxes are a good source
of income for the govern-
ment to take steps for the
development of the country.

II. Yes, these taxes are NOT
used for the goodwill of the
nation.

(1) Only argument [ is strong.

(2) Only argument I is strong.

(3) Both arguments [ and Il are
strong,

(4) Neither argument 1 nor II
Is strong.

Two stalements are given be-
low, followed by three Conclu-
sions, I. Il and 111, You have to
consider the statement to be
true even i it seems to be at
variance with commonly
known facts. You have to de-
cide which of the given Con-
clustons, il any, follows from
the given stalements.

Statements :

I. Every man should have his
identity card with him.

Il. That card should mention
his blood group, complete
address and telephone
number for contact, in case
of emergencies.

Conclusions :

I.  Blood CANNOT be trans-
fused until its group is
mentioned in the card.

II. No one is supposed to for-
get his phone number un-
der any eircumstances.

. The police needs this infor-
mation if the injury is fa-
© tal.

(1) Only Conclusion I follows

(2] Only Conclusion II follows

(3) Only Conclusion IIl follows

1l

~ (4) None of them follows

&7. Which of the words Ca'\,-"mq
be formed by the letters of
word “"CARABINER™ ?

(1) Crab [2) Nine
(3) Bare (4) Rice

68. Which of the following worg
does NOT have its vowels in g
alphabetical order ?

(1) Aerious  (2) Materious
(3) Imperious (4] Facetious

69. Select the option that is rela,

ed to the third word on th

same basis as the second wor
is related to the first word.

Birds : Chirp : : Bear : ?
(1) Growl (2) Gibber
(3) Bleat (4] Grunt

70. Each one of the following of
tions consists of pairs c
words. Choose the best pair
match with the pair in th
question.

Doctlor : Nurse

(1) Judge : Lawyer
[2) Owner : Stafl
[3) Chef : Wailer

(4] Engineer : Driver

71. Select the aliernative that |
related to the third term in th
same way as the second tern
is related to the first term.

POQR: UTS :: LMN: ?
(1) OPQ (2) QPO
(3) NML (4) PQO

72. Find the allernative that ca
be a member of the gl\m

group/ class.
Pathology, Radiology, ca:vdlol

Oy

(1] Biclogy

(2) Geolagy

(3) Zoology ]

(4) Hematology :
73. Find the m:ssmgnumber ;

1,8,27, 64,7

(1) 125 (2) 135

(8) 145 (4) 155



,.;,i';::r] the mMissing numbers (X |
" and YD In the serles il
ihe value of Y=-X :

g5, 26. 28, X, 35, Y, 48
w7 (2) 8
39 4 10

45, Find the pair of the numbers
that would fit into the pattern:
32, 3. 32 4, 32 12, 32 48_ a3
240, 7
(1) 321200
(3) 321320

(2) 32 1440
(4) 64 1440
76. Which of the following series
{s bullt on the same logic as :
C.E.G.K
(1) M. Q.S W
(2) M. 8. 5, X
@ M0 QS
[4) M, P, S,V

MENTAL APTITUDE I1Q &
REASONING ABILITY

77. 10 the 5th day of a month is
Wednesday, which of the fol-
lowing would be the 2nd day
after the 20th day of that
month ?

(1) Wednesday
(2) Sunday
[3) Saturday
{4) Thursday :
78. A series is given, with one term

missing. Choose the correct
alternative from the given ones

that will complete the series.
AOFS, B1F6G, D1G6, G217, 7
(1) LALS (2) K3L8
(3) K3M9 (4) Lama
79. In a code language, 639 means
‘water is drink’, 316 means
Yjuice is drink’ and 219 means
‘water or julce’. Find the code
for ‘or’.
mi1 (2) 2
@39 4) 3
80. In a certain code RICH is writ-
len as 4279 and SNOW {s wril-

ten as 8396, How s COIN writ
ten in that code?
(1) 4547 (2) 2035
(3) 1901 [4) 7923

B1.1f in a certain code language,
'+, represents ‘x’, "=’ repre-
sents, '+, "« represents "+ and
“+' represents ‘', Find out the
answer of the following ques-

tion.

8-3+14+6x2="7
(19 2) 8
[3) 26 (4) 5

BZ.If HELIPAD is coded as
JGNHKRCF, then how will BUY
be coded as 7

(1] ACE (2) FHJ
(3) DWA (4) KMO
83. IfA @ B means A is the grand-

son of B, A # B means A Is the
wile of B and if A * B means A
is the father of B, then what
does X*Y @ Z # W mean, I[Z

has only 1 child ?
[1) W is the mother of X
[2) W is the father of X
[3) X is the mother of W
[4) X is the father of W

B4. If P% @ means P is the father
of Q: P! Q means P is the sis-
ter @ and P* @ means P is the
daughter of @, which of the
following shows that I is the
sister of K's husband ?
(1)I1%GIH*K
@ IIGHH*K
@) IIG*H%K
4)1%G*HIK . .

85. M said to N, “You are my
daughter's father's mother's
son”. How is N related to M, il

M is a fermnale ?

(1) Nis the brother of M's hus-
(2) N is the father of M

(3) N is the father-in-law of M
(4) N is the son of M

g8. In the following figure
square represents accs
tants, the triangle represen
artists. the circle represents
planners and the rectan
resents men. Which set
ters represent men who are
artists?

(2) GAF
(3) AB (4) AC

B87. Which of the following veni
diagrams best represents the
relationship between Rajast
han. India and Asia ?

(1) % {-ZI @
(3) @ (4) é@

BB. A student enrols for a 6 lest
series to prepare for an en-
trance exam. He plots his
progress as a line graph. The
line graph shows the marks he
scored in these 6 tests. In how
many tests his name was list-
ed in the Hall of Fame ? (Those
students who score more than
40 get the honour of being list-
ed in the Hall of Fame)

(1) GH

60 7
S50 45 38
540 3 5
=30] 20 25
820 L
10
2 0T ire 8, 4W961. 6
Test
(12 2) 1
(3 3 (4) 4



89. The bar graph shows GDP for |

the year 2017, in billion USD,
of six countries which have
united to form a free trade
block. GDP of which eouniry

1
constitules Elh of the total

GDP of these 6 countries ?

52
a,.
RN
a3
o8
q
B
8 A B CODE F
Country
(1) A (2) E
(3 F 4) C

80. Alloy | and alloy 2 are prepared
by mixing metals A, B, C and
D. The pie- charts show the
proportions of these metals in
the two alloys.
If 1 kg of alloy 1 and 2 kg of
alloy 2 is melted and mixed,
then the resulting alloy will
contain what mass of metal
B?

Alloy 1

Matal

(1) 700 (2) 500g
(3) 7Og [4) 50g

81. Which word does NOT belong
with the others?
(1) Blue {2) Green
(3) Paint (4) Yellow

92. Find the odd letters from the
given alternatives.
(1) GEC (2) IKM
(3) 0Qs (4) VXZ

83. Choose the figure which is dif-
ferent from the rest.

=

BI==] @

94, Choose the Ngure which is dif-
ferent from the rest.

(1) (2) [w M
N H
0ZT

DN =
4T =Z
oz =

=1 =)

(3) (4]

1 I
Q
H

M
a
v

- Z T
ZN g

Q
(o]
M

b B
=

05, Select the alternative that is
related to the third term in the
same way as the second term
is related to the [first term.
Necklace : Jewellery : : Pen : ?
(1) Paper [2) Stationery -
(3) Writing  (4) Book

96. Sclect the alternative that is
related to the third term in the
same way as the second term
is related to the first term.
196 : 169 :: 2744 : 7
(1) 4277 [2) 2195
(3) 2977 (4) 4192

87. From the glven answer figures,
select the' one in which the
question fgure is hidden/em-
bedded.

AT ] (2

13) (4]

AN\
A¥4
AN AN

98, Which answer figure will com-
plete the pattern in the ques-
tion figure ?

(Y] (2)

(3] (4]

99. Which of the lollowing answer
figure patterns can be com.
bined to make the question fig.

ure ?

[HH:EﬁgHHj

“dbog g
l3l=E!§E:EI=E

Hlﬁjajgcﬁj

100. Which of the following cubes
in the answer figure G’!.NNO'H
be made on the basis of the
unfolded cube in thequesllmi
figure 7

O
s

[@55




(1

7
=
B S
O
W S
X

Directions (101-103) : Read
the following information to
answer the glven questions.

Following are the conditions

for issuing a passport.

(A) The applicant must be bomn
in the country or be mar-
ried to a citizen of the
country.

(B) The applicant should pos-
sess the unique identity
card for proof of name, ad-
dress and age.

(€] The candidate should pro-
duce 12th pass certificate
for education proof if NOT
a minor.

(D) A minor s under 18 years
of age. A minor should pos-
sess the unique identity
card of either parent.

(E) For reissue of passport ap-
plicant should submit old
passport. For fresh issue
applicant should submit
affidavit.

However, in case an applicant

who fulfills all other criteria

EXCEPT :

(1) A above, In case the appli-
cant was born outside the
country, the .‘L]};}h{‘.‘llﬂ)ll is

referred to passport Head |

Oflice.

(2) C above. If applicant has
NOT passed 12th, the ap-
plication is referred to
passport Head OlMice.

. [3) E above, in case the old
passport is lost, the appll-
cation will be treated as a
fresh issue.

Based on these criteria and

information provided below.

decide the course of action in
each case. You are NOT Lo as-
sume anything.

15 year-old Vijay was born in

the country, has the unique

identity card, has NOT yet
passed his 12th and has his
old passport. Only his mother
has a unique identity card, but
his father does NOT as he was
NOT born in the country.
(1) Allot Passport
(2) Reject Passport
(3) Refer to Head Ofice
(4) Data inadequate
102.21 year-old Sam is married to
Rita who i5 a citizen of the
country. He has the required
afMidavit for a fresh passport.
He has the unique identity
cards both of himsell as well
as his wile.
(1) Allot Passport
{2) Reject Passport
(3) Refer to Head Office
(4) Déta inadequate

103. Seema has lost her old pass-
port. She is 75 years old, was
born outside the country and
she does NOT have the unique
{dentity card and is educated
till the 10th. She has the affi-
davit.

" (1) Allot Passport
(2] Reject Passport
(3) Refer to Head Office  ~

‘(4) Data inadequate

101.

104. Which of the [ollowing arswes
figure patterns can l'ﬂlTIP‘l’H'
the series given in the ques-

tion fgure 7
L.
a|® 74

(n <~ 2) &
B

4] 2

vV

3 &

7 [

108. Which of the following answer
figure palterns can complete
the serfes given in the ques-

tion fgure ?

(@] ‘ l m] ‘
A [|lAaOD)| =
[m] [®]
(1) (2)
DOA ACID
B[ a (4) i
JAN o
L] O

106. What is the minimum number
of lines required to make the

given image 7

(1) 12 (2) 13
(3) 14 (4) 11

107. Il a mirror is placed on the line
MN, then which of the answer

figures is the right image of the
given figure ?




(1) B, ARCU R
g 1/‘ NN
(1) ll"..J C1 =
N/

108, A plece of paper is folded and
punched as shown below i
the queation ligures, From the
given answer Hgures, Indicate
how 1L will appear when

T

_
B
(K ﬂ'& “ AN

PRPY Bey

108, Arrange the following words as
per their order in an English
dictionary and choose the one
that comes first,

preview: pretence; provious:
pretiler
(1) preview  (2) prettier

(3) previous (4) pretence
110. A serles is given, with one word

missing. Choose the correct al-
ternative from the given ones

that will complete the serfes.
Retina, National, Algebra, Ra
diator, ?

(1) Apparel  (2) Military
(3) Ordinary (4) Barometer
111, A series is given, with one term

missing Choose the correct al-
ternative from the given ones

that will complete the series.

~ FED, HIJ, NML. PQR, VUT, ?
(1) ZYX (2) WXY
(3) XYz (4) YXW

112, A nerles i Hivern, with one nuim
ber milssing, Choone the cor
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